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A - Writing Code (543A)
e Solved by QwQ
00

ud

B - Destroying Roads (543B)

e Solved by QwQ

gd
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C - Remembering Strings (543C)

e Solved by QwQ
HRE

gd

D - Road Improvement (543D)

e Solved by Withinlover

gd
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$n\leq 2e5%
HRE

0D000dp
dddddd00d0d0d0dd0o0ooooooabPOOO
000 $dp[x] = \prod(dp[son[x]] + 1)$

0000000000000 000DOCODO000DOC0O00 sdps000OODOO $O(N)$ OO0
0000000 $dp[son[x]1+1s0 0000 $0$0 0000000000 0O0O0O0OO0OOO0O0O0O0O0O

0000 $0(n)$

E - Paths and Trees (545E)

e Solved by QwQ
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HEN

F - Soldier and Traveling (546E)

e Solved by QwQ
HRE

0O

G - Mike and Frog (547A)

e Solved by QwQ
04

HEN

H - Mike and Feet (547B)

e Solved by QwQ
HRN

O

| - Mike and Foam (547C)

e Solved by QwQ
g
g

J - Mike and Fish (547D)

e Solved by QwQ
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K - Mike and Friends (547E)
e Solved by QwQ
00

gd

L - Regular Bridge (550D)
e Solved by Withinlover
HRN
OO0 $k$J0 D00 00D00OD00O00O0 $k¢joODOoOoooooogg
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00 $k=2*s-1$000000004000 $s$00000000C00O0ODOOO0OOODOOOOODO
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M - Brackets in Implications (550E)
e Solved by Withinlover
00

Oo0Do0o0O0O0 $\{0,1,\to\}$ 0000000000000 000000000000000000O
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$n=1$0$n=2$000000000000

N - GukiZ hates Boxes (551C)

e Solved by QwQ
0O

ud

O - GukiZ and Binary Operations (551D)

e Solved by Pantw

gd

O $n, k|, m$f00000O00O000 $\{ai\}, Neillensfd 000000

1. $\foralli\\,0 <a_i<2™I$
2. $(a_1\,\mathrm{and}\,a_2)\,\\mathrm{or}\,(a_2\\mathrm{and}\,a_3)\,\mathrm{or}\\dots\,\mat
hrm{or}\,(a_{n-1}\,\\mathrm{and}\,a_n)=k$

o000 $m$OOO

$2\le n\le 10~ {18},\quad O\le k\le 10~ {18}, \quad O\le \le 64, \quad 1\le m\le 10"9+7$
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D000000000D0000000000$1$00000 $1$000000 $f {i-2}$000 $1$0
00000000000 $f {i-1}$[]

$\{a \}¢ 00000000000000000000000000 $(f n)~c2~n-f n)~{l-c}$00 O
$c$0 $k$ 0000000 $1$0000

00 $k\ge2”$ 0000000000000 $0$0

$M{fnM\}$000000 FibonacciOODOODOOOO $\Theta(n+)$ OO OO ODOODOOOODO
gobogobbooobboonobooobbd 23330

goboooboooboboon

gooogooo

$$\begin{bmatrix}1 & 1\\1 &
O\end{bmatrix}\begin{bmatrix}f[i-1]\\f[i-2\end {bmatrix} =\begin{bmatrix} f[i)\\f[i-1]\end {bmatrix} $$

U

$$A=\begin{bmatrix}1 & 1\\1 & O\end{bmatrix}$$

googd
$$A”n\begin{bmatrix}1\\1\end{bmatrix}=\begin{bmatrix}f[n]\\f[n-1)\end {bmatrix} $$
000000000000 00000000000 $\Theta\logn)$ OO OOOOOO $A™N$]

000000000000 $\Theta(l+\logn)$ OO OO OOOOOO

P - GukiZ and GukiZiana (551E)

e Solved by QwQ
0o

gd

Q - Vanya and Scales (552C)

e Solved by Pantw

gd

00 $w, m$00 $w™0, w1, \dots, w~{100}$ 000000000 DOO 100
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$2\le w\le 10™9,\,\, I\le m\le 10™9%
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goodggo

O0000000000 general O solutionf]
$n\geS5$s 000 000000ODOOO $n=4$00000000O

000000 $\Theta(m”™{\In 3AIn w})$ O $\Theta(\log_w m)$[]

R - Vanya and Triangles (552D)

e Solved by Pantw
0o

000 $n$ 000 $(x i,y N$j00O00D0O000ODOOOOOSSOOOO0O

$1\le n\le 2000,\\, -100\le x_i, y_i\le 100$
00

0000 450000 CodeforcesJ0 O OO0

$\binom{n}{3}\le 1331334000\approx 1.3\times 10°9%

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

;838;8:7/30 2020-2021:teams:mian:cf_mashup:20200730 https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:mian:cf_mashup:20200730&rev=1596119639

22:33

I e e e e e e o o A o A

 H Sy Sy Sy S [y Sy Sy Sy s

gboboogobboobbibod map0ogonbogoonon

OO0O00O4d $\Theta(n~2\log n)$ OO

S - Vanya and Brackets (552E)

e Solved by Pantw & Withinlover
HRN

Oo0O0OoOopoosoodoooogoooooooooe9oooooonDo +0 *

gbobogobooobobooobboon

gobogoooo1sd

HEN

gbobogoboodoboboooboobouoooobooon

00000 pyOeval0OOODO 23330

Code as follows:

S input()
N = len(S)
Ans = eval(S)
for i in range(0, N, 2):
for j in range(i, N, 2):
if (i ==0o0or (i >0 and S[1i - 1] == '*")) and (j == N - 1 or (j <
N - 1and S[j + 1] == '*')):
SS = S[:1i] + str(eval(S[i:j+1])) + S[j+1:]
if int(eval(SS)) > Ans:
Ans = int(eval(SS))

print (Ans)

T - Kyoya and Permutation (553B)

e Solved by QwQ

HEN
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HEN

U - Love Triangles (553C)
e Solved by QwQ
00

0O

V - Nudist Beach (553D)
e Solved by QwQ
00

HEN

W - Case of Fugitive (555B)

e Solved by QwQ
HRN

O

X - Case of Chocolate (555C)

e Solved by Pantw

HEN
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0000 generalcasel0 000000000 ODOOOOO

goboooobbooobbooonooog

e $L$: 00000 $x$00

e $R$: 00 00DO $x$00

e $Lbs: left-boundD OO DOO0ODO $x$00

e $Ub$: upper-boundC 0O O OOOO $y$ 00O

O000000O0O000DOOo0OOg SplitOODO00OoDOOoOoOoOooooOoon
0000000000000 000DOo0o0ooDo $(,ns00000000DO0OO
g0 oooon
0000000000 std::set0000000000O0O0DOODOOODOOODOO

goboooobod

tuple<Interval, Interval, int> Split (int pos, Direction dir) const {
if(dir == UP)
return make tuple(Interval(L, pos - 1, Lb, Ub), Interval(pos + 1, R,
pos + 1, Ub), (N+ 1 - pos) - Ub + 1);
else
return make tuple(Interval(L, pos - 1, Lb, N+ 1 - pos + 1),
Interval(pos + 1, R, Lb, Ub), pos - Lb + 1);
}
bool operator < (const Interval &b) const {
return this->L == b.L ? this->Lb < b.Lb : this->L < b.L;
}

int main() {

S.insert(Interval(l, n, 1, 1));

for {
int x, y;
char c;
scanf ("%d%sd %c", &x, &y, &c);
Interval itv(x, x, INF, INF);
auto pos = S.insert(itv);
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auto it = pos.first;
if(it == S.begin()) puts("0");

else {
--1t;
if(it->R < x) puts("0");
else {
auto tup = it->Split(x, ¢ == 'U' ? Interval::UP : Interval::LEFT);

S.erase(itv);

S.erase(it);

if(get<0>(tup).valid()) S.insert(get<0>(tup));
if(get<l>(tup).valid()) S.insert(get<l>(tup));
printf("%d\n", get<2>(tup));

Y - Case of a Top Secret (555D)

e Solved by Pantw
HRN

00000000 $n$000000 $x 1, \dots, x_n$[]
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0000000 $ai$4 00000000 $i$000000000000000000
000000000000000000000000000000000000000000000
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$1\le n, m\le 2\times 10™5%

$-10~9\le x_i\le 10°9$
00
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0000000000000 000 $5times107™8$ 0000000
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Z - Case of Computer Network (555E)
e Solved by QwQ
00

gd
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